Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				ENGIN	EER'S	Low E	Bidder	#2 Bi	dder
				ESTIN	<i>I</i> ATE	Active Constru	ction Inc. (ACI)	Global Contractors, LLC	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
A1	Roadway Surveying	LS	1	\$10,000.00	\$10,000.00	\$6,000.00	\$6,000.00	\$12,500.00	\$12,500.00
A2	Project Red Line Drawings	LS	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$2,500.00	\$2,500.00
А3	SPCC Plan	LS	1	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$2,500.00	\$2,500.00
A4	Mobilization (0001)	LS	1	\$40,000.00	\$40,000.00	\$65,106.00	\$65,106.00	\$60,000.00	\$60,000.00
A5	Project Temporary Traffic Control (6971)	LS	1	\$30,000.00	\$30,000.00	\$90,000.00	\$90,000.00	\$25,000.00	\$25,000.00
A6	Pedestrian Traffic Control	LS	1	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$2,500.00	\$2,500.00
A7	Clearing and Grubbing (0025)	LS	1	\$450.00	\$450.00	\$9,000.00	\$9,000.00	\$8,000.00	\$8,000.00
A8	Removing Drainage Structure (0049)	EA	3	\$1,200.00	\$3,600.00	\$350.00	\$1,050.00	\$500.00	\$1,500.00
A9	Removal of Structure and Obstruction (0050)	LS	1	\$2,500.00	\$2,500.00	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00
A10	Removing Cement Conc. Pavement (0090)	SY	236	\$20.00	\$4,720.00	\$14.50	\$3,422.00	\$90.00	\$21,240.00
A11	Removing Cement Conc. Sidewalk (0100)	SY	943	\$16.00	\$15,088.00	\$8.00	\$7,544.00	\$45.00	\$42,435.00
A12	Removing Cement Conc. Curb and Gutter (0108)	LF	200	\$14.00	\$2,800.00	\$5.00	\$1,000.00	\$15.00	\$3,000.00
A13	Removing Cement Conc. Curb (0110)	LF	721	\$14.00	\$10,094.00	\$5.00	\$3,605.00	\$10.00	\$7,210.00
A14	Removing Asphalt Conc. Pavement (0120)	SY	1,040	\$25.00	\$26,000.00	\$5.00	\$5,200.00	\$40.00	\$41,600.00
A15	Remove and Reinstall Miscellaneous Items	LS	1	\$4,717.00	\$4,717.00	\$1,200.00	\$1,200.00	\$2,500.00	\$2,500.00
A16	Shoring or Extra Excavation Class B (7008)	SF	760	\$10.00	\$7,600.00	\$1.00	\$760.00	\$5.00	\$3,800.00
A17	Structure Excavation Class B Incl. Haul (7006)	CY	43	\$40.00	\$1,720.00	\$5.00	\$215.00	\$100.00	\$4,300.00
A18	Crushed Surfacing Base Course (5100)	TN	529	\$50.00	\$26,450.00	\$41.00	\$21,689.00	\$50.00	\$26,450.00
A19	Planing Biuminous Pavement (5711)	SY	514	\$30.00	\$15,420.00	\$14.00	\$7,196.00	\$13.00	\$6,682.00
A20	HMA CI 1/2" PG 64-22 (5767)	TN	299.00	\$125.00	\$37,375.00	\$150.00	\$44,850.00	\$110.00	\$32,890.00
A21	Cement Conc. Pavement (5625)	CY	59	\$305.00	\$17,995.00	\$625.00	\$36,875.00	\$275.00	\$16,225.00
A22	Stamped Tinted Concrete Crosswalk	SY	77	\$147.00	\$11,319.00	\$215.00	\$16,555.00	\$300.00	\$23,100.00
A23	Manhole 48 in. Diam. Type 1 (7360)	Each	1	\$5,000.00	\$5,000.00	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00
A24	Cast-in-Place Manhole 48 in. Diam. Type 1	Each	1	\$5,000.00	\$5,000.00	\$11,500.00	\$11,500.00	\$7,000.00	\$7,000.00
A25	Connection to Drainage Structure (9605)	Each	3	\$530.00	\$1,590.00	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00
A26	Adjust Manhole (3080)	Each	3	\$750.00	\$2,250.00	\$850.00	\$2,550.00	\$1,500.00	\$4,500.00

PW18-0013F Combined Master Bid Tab PAGE 1 OF 8

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				ENGIN ESTIN			Bidder ection Inc. (ACI)	#2 Bi Global Contr	
Item	Description	Unit (Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
A27	Adjust Catch Basin (3100)	Each	3	\$460.00	\$1,380.00	\$850.00	\$2,550.00	\$500.00	\$1,500.00
A28	Perk Filter Catch Basin, 1-12"	EA	3	\$10,136	\$30,408.00	\$8,750.00	\$26,250.00	\$8,000.00	\$24,000.00
A29	Perk Filter Catch Basin, 2-12" Stacked	EA	1	\$19,852	\$19,852.00	\$11,500.00	\$11,500.00	\$9,500.00	\$9,500.00
A30	Plugging Existing Pipe (7029)	Each	3	\$600	\$1,800.00	\$225.00	\$675.00	\$1,000.00	\$3,000.00
A31	Removal and Replacement of Unsuitable Materials (3810	CY	20	\$40	\$800.00	\$35.00	\$700.00	\$70.00	\$1,400.00
A32	Adjust Valve Box (6243)	Each	3	\$250	\$750.00	\$500.00	\$1,500.00	\$250.00	\$750.00
A33	Testing Storm Sewer Pipe (3151)	LF	94	\$10	\$940.00	\$5.00	\$470.00	\$13.00	\$1,222.00
A34	Storm Sewer Pipe 12 in. Diam. (1173)	LF	94	\$65	\$6,110.00	\$70.00	\$6,580.00	\$170.00	\$15,980.00
A35	Erosion/Water Pollution Control (6471)	LS	1	\$3,200	\$3,200.00	\$3,500.00	\$3,500.00	\$4,000.00	\$4,000.00
A36	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$2,500	\$2,500.00	\$100.00	\$100.00	\$2,500.00	\$2,500.00
A37	Topsoil Type A	CY	42	\$52	\$2,184.00	\$45.00	\$1,890.00	\$40.00	\$1,680.00
A38	Fine Mulch, 3" at plating areas	CY	11	\$40	\$440.00	\$50.00	\$550.00	\$45.00	\$495.00
A39	PSIPE - 2.5" Cal. Tree	EA	10	\$1,750	\$17,500.00	\$500.00	\$5,000.00	\$450.00	\$4,500.00
A40	PSIPE - 5 Gal Shrub	EA	113	\$61	\$6,893.00	\$50.00	\$5,650.00	\$45.00	\$5,085.00
A41	PSIPE - 1 Gal Groundcover	EA	100	\$21	\$2,100.00	\$13.00	\$1,300.00	\$12.00	\$1,200.00
A42	Irrigation System (6071)	LS	1	\$6,888	\$6,888.00	\$15,000.00	\$15,000.00	\$20,000.00	\$20,000.00
A43	Cement Conc. Traffic Curb and Gutter (6700)	LF	681	\$65	\$44,265.00	\$29.00	\$19,749.00	\$25.00	\$17,025.00
A44	Cement Conc. Driveway Entrance Type 3 (7059)	SY	49	\$81.50	\$3,993.50	\$80.00	\$3,920.00	\$100.00	\$4,900.00
A45	Raised Pavement Marker Type 2 (6884)	HUND	0.54	\$1,200	\$648.00	\$1,000.00	\$540.00	\$1,000.00	\$540.00
A46	Monument Case and Cover	EA	1.00	\$850	\$850.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
A47	Cement Conc. Sidewalk (7055)	SY	1,166	\$65	\$75,790.00	\$50.00	\$58,300.00	\$45.00	\$52,470.00
A48	Cement Conc. Curb Ramp Type Perpendicular A (7058)	EA	9	\$2,600	\$23,400.00	\$2,000.00	\$18,000.00	\$2,000.00	\$18,000.00
A49	Street	LS	1	\$21,000	\$21,000.00	\$40,000.00	\$40,000.00	\$40,000.00	\$40,000.00
A50	Conduit Pipe 2 In. Diam. (6945)	LF	440	\$25	\$11,000.00	\$30.00	\$13,200.00	\$30.00	\$13,200.00
A51	Permanent Signing (2229)	LS	1	\$13,000	\$13,000.00	\$5,000.00	\$5,000.00	\$16,000.00	\$16,000.00
A52	Plastic Line (6807)	LF	1,291	\$1.80	\$2,323.80	\$1.00	\$1,291.00	\$1.65	\$2,130.15

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				ENGIN ESTIN	Charles Service Control	Low B Active Construc		#2 Bidder Global Contractors, LLC		
Item	Description		Quantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	
A53	Plastic Wide Lane Line (6828)	LF	95	\$5.36	\$509.20	\$2.00	\$190.00	\$2.00	\$190.00	
A54	Plastic Stop Line (6859)	LF	21	\$21.79	\$457.59	\$5.00	\$105.00	\$6.00	\$126.00	
A55	Plastic Crosswalk Line (6857)	LF	145	\$6.03	\$874.35	\$3.00	\$435.00	\$3.00	\$435.00	
A56	Plastic Crosshatch Marking (6822)	LF	114	\$5.36	\$611.04	\$2.00	\$228.00	\$2.00	\$228.00	
A57	Plastic Traffic Arrow (6833)	EA	2	\$300.60	\$601.20	\$250.00	\$500.00	\$225.00	\$450.00	
A58	Plastic Traffic Letter (6871)	EA	4	\$300	\$1,200.00	\$100.00	\$400.00	\$100.00	\$400.00	
A59	Painted Curb Marking	LF	201	\$3.48	\$699.48	\$3.00	\$603.00	\$3.00	\$603.00	
A60	Adjust and Replace Existing Access Covers with Non-Slip Lids	EA	17	\$100	\$1,700.00	\$850.00	\$14,450.00	\$200.00	\$3,400.00	
	Subtotal Schedule A (Items #A1-A60)				\$600,356.16		\$616,143.00		\$638,841.15	
Schedu	ule B						7			
B1	Roadway Surveying	LS	1	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00	\$100.00	\$100.00	
B2	Project Red Line Drawings	LS	1	\$500.00	\$500.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	
B3	SPCC Plan	LS	1	\$500.00	\$500.00	\$100.00	\$100.00	\$1,000.00	\$1,000.00	
B4	Mobilization (0001)	LS	1	\$4,300.00	\$4,300.00	\$10,000.00	\$10,000.00	\$1,000.00	\$1,000.00	
B5	Project Temporary Traffic Control (6971)	LS	1	\$3,300.00	\$3,300.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	
B6	Pedestrian Traffic Control	LS	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$2,000.00	\$2,000.00	
B7	Shoring or Extra Excavation Class B (7008)	SF	1,400	\$10.00	\$14,000.00	\$1.00	\$1,400.00	\$5.00	\$7,000.00	
B8	Structure Excavation Class B Incl. Haul (7006)	CY	117	\$40.00	\$4,680.00	\$1.00	\$117.00	\$100.00	\$11,700.00	
B9	Planing Biuminous Pavement (5711)	SY	109	\$30.00	\$3,270.00	\$30.00	\$3,270.00	\$40.00	\$4,360.00	
B10	HMA CI 1/2" PG 64-22 (5767)	TN	19	\$125.00	\$2,375.00	\$400.00	\$7,600.00	\$300.00	\$5,700.00	
B11	Connection to Drainage Structure (9605)	Each	1	\$530.00	\$530.00	\$2,500.00	\$2,500.00	\$1,500.00	\$1,500.00	
B12	Temporary Storm Sewer Bypass	LS	1	\$5,000.00	\$5,000.00	\$1.00	\$1.00	\$10,000.00	\$10,000.00	
B13	(3810)	CY	20	\$60.00	\$1,200.00	\$35.00	\$700.00	\$100.00	\$2,000.00	

PW18-0013F Combined Master Bid Tab PAGE 3 OF 8

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				ENGINI	Partie of the Control	Low B		#2 Bi	
				ESTIM	IATE	Active Construc	tion Inc. (ACI)	Global Contr	actors, LLC
Item	Description	Unit Q	uantity	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
B14	Testing Storm Sewer Pipe (3151)	LF	100	\$10.00	\$1,000.00	\$5.00	\$500.00	\$10.00	\$1,000.00
B15	Storm Sewer Pipe 24 in. Diam	LF	100	\$200.00	\$20,000.00	\$115.00	\$11,500.00	\$350.00	\$35,000.00
B17	Erosion/Water Pollution Control (6471)	LS	1	\$500.00	\$500.00	\$1.00	\$1.00	\$500.00	\$500.00
B18	Raised Pavement Marker Type 2 (6884)	HUND	0.20	\$2,000.00	\$400.00	\$1,000.00	\$200.00	\$1,000.00	\$200.00
B16	Monument Case and Cover	EA	1	\$850.00	\$850.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00
B19	Plastic Double Yellow Centerline (6807)	LF	80	\$10.00	\$800.00	\$5.00	\$400.00	\$6.00	\$480.00
B20	Plastic Wide Lane Line (6828)	LF	80	\$5.36	\$428.80	\$4.00	\$320.00	\$5.00	\$400.00
B21	Plastic Traffic Arrow (6833)	EA	1	\$300.60	\$300.60	\$250.00	\$250.00	\$225.00	\$225.00
B22	Plastic Stop Line (6859)	LF	12	\$21.76	\$261.12	\$5.00	\$60.00	\$6.00	\$72.00
	Schedule B Base Bid (Subtotal Item #B1-B22)				\$68,195.52		\$46,519.00		\$89,237.00
5	TOTAL SCHEDULE A + B				\$668,551.68	107=	\$662,662.00		\$728,078.15
	SBE Total (Less Tax)				\$668,551.68		\$662,662.00		\$728,078.15

^{*} Correction made to Bid Item Total and/or Bid Total Amount

PW18-0013F Combined Master Bid Tab PAGE 4 OF 8

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				#3 Bi NW Caso	Delice Control (#4 Bi Sound Pacific	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount
A1	Roadway Surveying	LS	1	\$7,000.00	\$7,000.00	\$12,000.00	\$12,000.00
A2	Project Red Line Drawings	LS	1	\$1,300.00	\$1,300.00	\$250.00	\$250.00
A3	SPCC Plan	LS	1	\$200.00	\$200.00	\$1,000.00	\$1,000.00
A4	Mobilization (0001)	LS	1	\$70,000.00	\$70,000.00	\$70,000.00	\$70,000.00
A5	Project Temporary Traffic Control (6971)	LS	1	\$50,000.00	\$50,000.00	\$101,000.00	\$101,000.00
A6	Pedestrian Traffic Control	LS	1	\$4,000.00	\$4,000.00	\$7,000.00	\$7,000.00
A7	Clearing and Grubbing (0025)	LS	1	\$5,000.00	\$5,000.00	\$8,000.00	\$8,000.00
A8	Removing Drainage Structure (0049)	EA	3	\$250.00	\$750.00	\$300.00	\$900.00
A9	Removal of Structure and Obstruction (0050)	LS	1	\$9,500.00	\$9,500.00	\$7,000.00	\$7,000.00
A10	Removing Cement Conc. Pavement (0090)	SY	236	\$25.00	\$5,900.00	\$80.00	\$18,880.00
A11	Removing Cement Conc. Sidewalk (0100)	SY	943	\$11.00	\$10,373.00	\$22.00	\$20,746.00
A12	Removing Cement Conc. Curb and Gutter (0108)	LF	200	\$6.00	\$1,200.00	\$8.00	\$1,600.00
A13	Removing Cement Conc. Curb (0110)	LF	721	\$6.00	\$4,326.00	\$7.00	\$5,047.00
A14	Removing Asphalt Conc. Pavement (0120)	SY	1,040	\$12.00	\$12,480.00	\$35.00	\$36,400.00
A15	Remove and Reinstall Miscellaneous Items	LS	1	\$9,000.00	\$9,000.00	\$5,000.00	\$5,000.00
A16	Shoring or Extra Excavation Class B (7008)	SF	760	\$0.25	\$190.00	\$2.00	\$1,520.00
A17	Structure Excavation Class B Incl. Haul (7006)	CY	43	\$28.00	\$1,204.00	\$40.00	\$1,720.00
A18	Crushed Surfacing Base Course (5100)	TN	529	\$62.00	\$32,798.00	\$42.00	\$22,218.00
A19	Planing Biuminous Pavement (5711)	SY	514	\$9.00	\$4,626.00	\$16.00	\$8,224.00
A20	HMA CI 1/2" PG 64-22 (5767)	TN	299.00	\$160.00	\$47,840.00	\$100.00	\$29,900.00
A21	Cement Conc. Pavement (5625)	CY	59	\$610.00	\$35,990.00	\$550.00	\$32,450.00
A22	Stamped Tinted Concrete Crosswalk	SY	77	\$215.00	\$16,555.00	\$200.00	\$15,400.00
A23	Manhole 48 in. Diam. Type 1 (7360)	Each	1	\$3,250.00	\$3,250.00	\$4,000.00	\$4,000.00
A24	Cast-in-Place Manhole 48 in. Diam. Type 1	Each	1	\$5,100.00	\$5,100.00	\$5,500.00	\$5,500.00
A25	Connection to Drainage Structure (9605)	Each	3	\$2,450.00	\$7,350.00	\$950.00	\$2,850.00
A26	Adjust Manhole (3080)	Each	3	\$1,125.00	\$3,375.00	\$600.00	\$1,800.00

PW18-0013F Combined Master Bid Tab PAGE 5 OF 8

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				#3 Bi NW Caso		#4 Bidder Sound Pacific Construction	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount
A27	Adjust Catch Basin (3100)	Each	3	\$1,125.00	\$3,375.00	\$600.00	\$1,800.00
A28	Perk Filter Catch Basin, 1-12"	EA	3	\$11,300.00	\$33,900.00	\$8,000.00	\$24,000.00
A29	Perk Filter Catch Basin, 2-12" Stacked	EA	1	\$14,000.00	\$14,000.00	\$10,000.00	\$10,000.00
A30	Plugging Existing Pipe (7029)	Each	3	\$260.00	\$780.00	\$200.00	\$600.00
A31	Removal and Replacement of Unsuitable Materials (3810	CY	20	\$70.00	\$1,400.00	\$75.00	\$1,500.00
A32	Adjust Valve Box (6243)	Each	3	\$925.00	\$2,775.00	\$500.00	\$1,500.00
A33	Testing Storm Sewer Pipe (3151)	LF	94	\$1.00	\$94.00	\$5.00	\$470.00
A34	Storm Sewer Pipe 12 in. Diam. (1173)	LF	94	\$141.00	\$13,254.00	\$95.00	\$8,930.00
A35	Erosion/Water Pollution Control (6471)	LS	1	\$17,000.00	\$17,000.00	\$20,000.00	\$20,000.00
A36	Stormwater Pollution Prevention Plan (SWPPP)	LS	1	\$200.00	\$200.00	\$1,000.00	\$1,000.00
A37	Topsoil Type A	CY	42	\$46.00	\$1,932.00	\$42.00	\$1,764.00
A38	Fine Mulch, 3" at plating areas	CY	11	\$52.00	\$572.00	\$47.00	\$517.00
A39	PSIPE - 2.5" Cal. Tree	EA	10	\$520.00	\$5,200.00	\$475.00	\$4,750.00
A40	PSIPE - 5 Gal Shrub	EA	113	\$52.00	\$5,876.00	\$47.00	\$5,311.00
A41	PSIPE - 1 Gal Groundcover	EA	100	\$14.00	\$1,400.00	\$13.00	\$1,300.00
A42	Irrigation System (6071)	LS	1	\$17,500.00	\$17,500.00	\$23,000.00	\$23,000.00
A43	Cement Conc. Traffic Curb and Gutter (6700)	LF	681	\$28.00	\$19,068.00	\$30.00	\$20,430.00
A44	Cement Conc. Driveway Entrance Type 3 (7059)	SY	49	\$95.00	\$4,655.00	\$115.00	\$5,635.00
A45	Raised Pavement Marker Type 2 (6884)	HUND	0.54	\$575.00	\$310.50	\$900.00	\$486.00
A46	Monument Case and Cover	EA	1.00	\$680.00	\$680.00	\$2,000.00	\$2,000.00
A47	Cement Conc. Sidewalk (7055)	SY	1,166	\$55.00	\$64,130.00	\$50.00	\$58,300.00
A48	Cement Conc. Curb Ramp Type Perpendicular A (7058)	EA	9	\$2,200.00	\$19,800.00	\$3,000.00	\$27,000.00
A49	Street	LS	1	\$54,500.00	\$54,500.00	\$67,000.00	\$67,000.00
A50	Conduit Pipe 2 In. Diam. (6945)	LF	440	\$60.00	\$26,400.00	\$50.00	\$22,000.00
A51	Permanent Signing (2229)	LS	1	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
A52	Plastic Line (6807)	LF	1,291	\$3.50	\$4,518.50	\$2.00	\$2,582.00

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				#3 Bi NW Caso		#4 Bi Sound Pacific	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount
A53	Plastic Wide Lane Line (6828)	LF	95	\$7.00	\$665.00	\$2.00	\$190.00
A54	Plastic Stop Line (6859)	LF	21	\$17.00	\$357.00	\$6.00	\$126.00
A55	Plastic Crosswalk Line (6857)	LF	145	\$21.00	\$3,045.00	\$3.00	\$435.00
A56	Plastic Crosshatch Marking (6822)	LF	114	\$9.50	\$1,083.00	\$2.00	\$228.00
A57	Plastic Traffic Arrow (6833)	EA	2	\$175.00	\$350.00	\$230.00	\$460.00
A58	Plastic Traffic Letter (6871)	EA	4	\$175.00	\$700.00	\$110.00	\$440.00
A59	Painted Curb Marking	LF	201	\$1.25	\$251.25	\$3.00	\$603.00
A60	Adjust and Replace Existing Access Covers with Non- Slip Lids	EA	17	\$2,000.00	\$34,000.00	\$1,300.00	\$22,100.00
	Subtotal Schedule A (Items #A1-A60))		-	\$713,078.25		\$764,362.00
Schedu	ule B						
B1	Roadway Surveying	LS	1	\$2,300.00	\$2,300.00	\$2,500.00	\$2,500.00
B2	Project Red Line Drawings	LS	1	\$325.00	\$325.00	\$250.00	\$250.00
B3	SPCC Plan	LS	1	\$200.00	\$200.00	\$1,000.00	\$1,000.00
B4	Mobilization (0001)	LS	1	\$8,000.00	\$8,000.00	\$2,500.00	\$2,500.00
B5	Project Temporary Traffic Control (6971)	LS	1	\$16,500.00	\$16,500.00	\$3,500.00	\$3,500.00
B6	Pedestrian Traffic Control	LS	1	\$2,600.00	\$2,600.00	\$750.00	\$750.00
B7	Shoring or Extra Excavation Class B (7008)	SF	1,400	\$0.25	\$350.00	\$2.00	\$2,800.00
B8	Structure Excavation Class B Incl. Haul (7006)	CY	117	\$28.00	\$3,276.00	\$34.00	\$3,978.00
B9	Planing Biuminous Pavement (5711)	SY	109	\$28.00	\$3,052.00	\$40.00	\$4,360.00
B10	HMA CI 1/2" PG 64-22 (5767)	TN	19	\$310.00	\$5,890.00	\$300.00	\$5,700.00
B11	Connection to Drainage Structure (9605)	Each	1	\$2,450.00	\$2,450.00	\$2,000.00	\$2,000.00
B12	Temporary Storm Sewer Bypass	LS	1	\$4,000.00	\$4,000.00	\$10,000.00	\$10,000.00
B13	(3810)	CY	20	\$70.00	\$1,400.00	\$75.00	\$1,500.00

PW18-0013F Combined Master Bid Tab

Description: E 25th Street Improvements

Specification No.: PW18-0013F

Bid Opening: 2/20/2018

				#3 Bi NW Caso		#4 Bio Sound Pacific	
Item	Description	Unit	Quantity	Unit Price	Amount	Unit Price	Amount
B14	Testing Storm Sewer Pipe (3151)	LF	100	\$1.00	\$100.00	\$10.00	\$1,000.00
B15	Storm Sewer Pipe 24 in. Diam	LF	100	\$190.00	\$19,000.00	\$185.00	\$18,500.00
B17	Erosion/Water Pollution Control (6471)	LS	1	\$3,700.00	\$3,700.00	\$1,500.00	\$1,500.00
B18	Raised Pavement Marker Type 2 (6884)	HUND	0.20	\$575.00	\$115.00	\$900.00	\$180.00
B16	Monument Case and Cover	EA	1	\$667.00	\$667.00	\$2,000.00	\$2,000.00
B19	Plastic Double Yellow Centerline (6807)	LF	80	\$9.00	\$720.00	\$6.00	\$480.00
B20	Plastic Wide Lane Line (6828)	LF	80	\$175.00	\$14,000.00	\$5.00	\$400.00
B21	Plastic Traffic Arrow (6833)	EA	1	\$175.00	\$175.00	\$235.00	\$235.00
B22	Plastic Stop Line (6859)	LF	12	\$14.00	\$168.00	\$6.00	\$72.00
	Schedule B Base Bid (Subtotal Item #B1-B22)			-10	\$88,988.00		\$65,205.00
	TOTAL SCHEDULE A + B				\$802,066.25		\$829,567.00
	SBE Total (Less Tax)			~	\$802,066.25		\$829,567.00

^{*} Correction made to Bid Item Total and/or Bid Total Amount

PW18-0013F Combined Master Bid Tab PAGE 8 OF 8